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@M YWhich mirror is used in the headlight of cars?
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ans of | 8%
X2 10%
X3 12%
x4 9%

[

CQuestion 1D - 723053361

QiZ s o A v B Ao it SR s 4 1 A I B e A TR RS S 0 4 e
o fomr w7 v A few wg O fe T s B o © O A S A W

Mo 418 12
w2 87 :43
<316 : 17
R 417 : 18

|

Cruestion 1D : 723053359

Q.13 A B ¥ C ow 7 =R o o =2 16 B & gm s weA B = ww F Bie A i wee
B by Cow EE F A B O EeE A RS e B Ry e vt s
snr wr e Bt o e

Ans X1 20 R

https:/icdn4. digialm. comiliperigd1/publ 1258 ouchstone/AssessmentQPHTMLMode 1//1258018258/125801825853D110/153007 11642748468/197 ..

[

Question 10 - 723053365

10764



TIF2018 hitps:ifednd digialm.comiperig01/pub/1 258 cuchstone/AssessmentQPHTMLMode1//1 2580182581 258018258530 11001 53007 1164274 .
Xz 2{1% e
X324 =

V24l R

Q14 o =fEm 21 ke & & o umr & Frads e weren sy Ber st i s oAtee b oaw oy
e s [ Cuiestion 10 - 723053364

e #0 E & g w7 ke o & g W # SRR o T m w3 km o
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Ans o ' 2 kmh
X 2 3 kmh
X 1§ km/h

X4 3§ knm'h
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https:/icdn4 digialm comiliper/g01/publi1258ftouchstone/AssessmentQPHTML Mode 1//1258018258/1258018258530110/153007 11642748468/197 . 11/64



Ti7i2018 hitps:iednd digialm comifper/g01/pub/1258fouchstone/AssessmentQPHTMLMode 141 2580182581 25801825853 011001 530971164274 ..

fAmafaf@a o2 o st oo &1 weus
F{ AR IFEOT FA A FRA F FeH &

TafefRg afes i 5937 & 93+
frwrer & qoet & wafoq e # Afgenadt
F Fafg e e 2

fomer | qew:

3cqree 11 28
AT AU 8
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AreRfeeT 7
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&= ||
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X3 15.8%
X 416.2%

Comprehension:

frrafaf@g o$ = 3R aifemsr &1 e
FT AR HFEIOT FIA AT T F 3 G

Tratataa arfee 5 9 & 53+
framer & gt F wEfT HgIa H ARGt
& Fafod e R

Ao | g% Afgen
3 11 =8

AT goua|  8: 7
HSE 3:5 L,
AT 7:4
=T 2:5

Rftes Rumit § FHaRE F YRR F e 1 e
S FHANET Hr FET = 2850

Bamma Saam s "wkEn Wamm dava

SubQuestion No : 16

Q.1
[ Cuestion 1D 723053367
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e T & F &Y W Afgenat &
HEar ¥ e ik AT femet o w1
T @ T H FT TGN F A F 872

a fr5:4

X25:2
X310:9
Ne2:q

Comprehension:

foafai@a IM® &1 ¥egTa F¢ I 2011 3R
2012 & 2= oF Fulaat gErr sfee wfaeE
oty framar £, 3 Jew geat & 3ew &

oH = AT - =97

T -0

% W = X 100

T 30 — 30112

— 2011

SubQuestion No : 17
%' 2011 3k 2012 & F9H A F =T FAT: [ Question 1D 723053371
21 F AR T 25 Fe | Ty It A
FA HY FA HT F=T A2
T X1%7082 w3
X 2 T 60.55 FE
v+ T 60.85 FT
X 4 T 7052 F3
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Comprehension:

ferafaf@a % &1 3yegaa T 3 2011 3R
2012 ¥ ke oF Fufaal qarr #fea gfaee
oy Erar & 3 e weat & 3eaw &

oH = AT - =0T

%ana‘:mE:”xmﬂ

70

afawe e A
5 8 & & B

-
L=

=1

SubQuestion No ; 18

— 12
_wlj

%' oy 2011 3k 2012 F F9=0 E F7 =0w

Question 10 - 723053370

THE o1, 1 FHU 3 aN F FOAT 3T
HT S FAT AT
An X019 : 10
X28:1
<329 : 31
28 31

Comprehension:
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R o Fr 3egaa #=Y 3R B 997 7 3w &)
OF Aee &7 390 F &l & vaw FEe
(1000 &) =7 ofaT 3T Tealas 3ooes
-;‘mlq -m
70 ES
20 = % = el
i
Foi ]
D
Fat WS it E 75 EL)
SubQuestion No : 19 F_ %
S wEl R SF # T FERE 5 EgE [ Question(ID 723053373
IEAEE IeUES FAad, A AR A% H 2 o
HgFT TS 3cue § Fraar gfaea F5
s
An X1 20.4%
X2 21.2%
X2 198%
v 20.8%.
Comprehension:
fo=Ra % Fr 3egaa #{ 3R o= 7 7 37 &)
OF Rie &7 330 7 5 F var et
(1000 #) = a3 aTeafas seaes
s St
Ei &5
] 5% 53 57
30 % d w *
& d 35 . i
X
0
10
]
FAE gl ard | nk ol
SubQuestion No : 20

16/64



Ti7i2018 hittps:iednd digialm.comifper/g01/pub/1258fouchstone/AssessmentQPHTMLMode 141 2580182581 2580182585301 530971164274 ..

T wead, e Rk wE & Re g o
3ees HR Swady, A R S F
FrafaE 3cea F AT FT FAR &7

An o118
X222
X3 24
X« 29

|

Question 1D : 723053374

secton - General English

@1 Choose the correct synonym of:

oration

Ans o 1 speech
X 2 dialogue
X 2 silence
< 4. attraction

Q_z In the fodioning seevence four worch o plirases have Boen undérlined. One of them is incorrect. Cloose dye incirect
wwid o phiwie Thom the given options. !

B 'was & niead - impoksible s, and coce mone. Bite Banded mie  Gilne wheo Loould e Ihﬂ:ﬂhh-ﬂ
EXPGILED TG i e

Ans X 1. Icould see
v 2 expect to win
X % handedme
< 4 once more’

Question 1D : 723053375

Cuestion 1D : 723053382

@3 Choose the appraﬁime antonym of;
avoid
Ans 51 kill
X 2 dodge
v 3 seek
X 4 discover

Question {0 : 723053376

Q.4 Fill in the blank with the appropriate word.

Ou SundaysT____ have iy breakiastin bed and spend the morming selaxing with a book:
Ans X 1 rapidly

&< 2 gradually

X 3. frequently

W ¢ usually

Cleestion 10D - 723053380
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@5 Choose the passage that is correctly punctuated. Question 1D : 723053386
Ans v’ 1

I wis very dark and windy: At g the dark clouds sad shouted, “Mother! Tt's going 1o ria. Let™s mu Indoors
quickdy.”
> 2
In was very dark and windy, Aastha s e daek clouds s shomed, “Mothier! Bs gofag 1o s, Let's pon indooats
quickdy*
X 3
It i very dlarkmd windy, Asitha sav the dark cionds ded shotted, “mether it's paing 16 rin. Let's na indoors
quickiy.”
X 4
[r was very dark and windy. Ansiha saw e dark cloads and shouted Mother” In's going o min. Let™s nin indoors
quickly
G106 1ot follming sentence foes words oo phases bave been undeslingd. One of them b incorect. Choe the incorreat werd
o6 Ty th 32 . Question 1D - 723053381
e e deisi wealth ased perpnty fioes Crod 15 i 3 diatoios et o alarciry ol malthy and pooperty becauis, by him, Ged
i only 0 Sk 0 50 el
Ans X 1. not a devotee
W 2 slavery of wealth
& 3 means to an end
& 4 One who desires e
T : ——
Q.7 Fill in the blank with the comect woud, .,
[ o mesm? 1D :723053378
The match was quite boring as we could easily predict who would be winner. ———— :
Ans X 1 3 '
o 2 the
< 3. some
X 4 an
P —— L S P —
Q.8  Ciwode the most approyeiale ladirert pamation S the follon ing srahascn,
R sviel) “Ty yom i hlh‘l!ll‘.f.tﬂll'.l..'l]ubrf.' Lised a1 lexit ﬁxmw«:ummﬁrmmtw.' [ mﬂsﬂon ‘D :mmu
Ans X 4 ;
B sani i e rrszanchd ey iR Ul ot in* Bbe 2264 e meed Al beast Eour feam sowmbers 5o compbete it within
[ dmyvy r
Xz
Reavi asked duyw m_mww_ihm abifEeult v ok (7 1 meed ot e Som wwam memsbers 50 compless i wathin fve dnve
R nakoed [ be edfermood o didficalr dear job was aod further sadd be nesded at Jeast foos ean pmbery o
coamphete if within five days,
> a
B v, D oo tberstoncil B et This josb i 1 ibednd A1 beadt Touss 1am mendbeers 50 compdore it wittin
five dave”
u.g ¥ ’ - " ok W ¥
Fill in the blank with the appropriate idiomatic expression. [ Question 1D - 723053389
Virat Kohli is most batsmen in the world.
Ans 1. hard and fast
¥ 2 head and shoulders above
< 3 keeping an eye on
/& 4 leaving no stone unturned
Q.10 Choose the passive voice form of the given sentence. :
Question 1D : 723053383
My colleague and I decided we would continme our efforts 1o conquer the seas.
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Ans «1

Tr wears decided by my colleague and me that we would continne our effores b copguer the seas,

b 2

My colleague and T decided we will continue crur efforts 1o conguer the seas.

> 3

My colleague and 1 decided we would be continuing our efforts to conquer the seas.

X 4

It is decided by my colleague and me 10 continue our efforts 1o conquer the seas.

Q.11 Choose the comest antonym of the underlined word 1o fill in the blank. :
Question 10 - 723053377

It looked as if the answer to the quiz queéstion was gbyzous but it tumed out to be

Ans X 1 persuasion
< 2. transparent
X 3 predictable

« 4 ambiguous
o
@12 Fill in the blank with the appropriate word's, [ Question 1D : 723053379
Did your college in the university tournament? |
Ans 3 1. participating P, U
W 2 participate : '

< 3 are participating
#< 4. participated

Q13 Fill in the blank with the appropriate idiomatic expression,

Question 1D : 723053388

Why are you 7 You pald no heed when yoliwere warned so many times.
Ans X1 chicken- hearted
v 2. eryingoverspilt milk
/X 3 giving yourself airs
/< 4. beating about the bush

Q14 Choose the word that is correctly spelt. [ Question 1D 723053387

Ans X 1. recieve
X 2. grammer
W © jrrelevant
X 4 imediate

Q@15 Choose the best option to combine the given sentences. Clusstion |D - 723053385

Rim felt very offended. She stopped talking to her friend.

Ans o 1
Rim felt so offended that she stopped talking to her friend.

b
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Rim felt very offended thart she stopped talking to her friend.
K5

Ritu felt very offended because she stopped talking 1o her friend.

X a
Ritu felt too offended she that stopped talking to her friend.

Comprehension:

Read the following passage and answer the questions based on it.

My only work is to give you a clear-cut idea how you can become more
conscious; I call it meditation. Working, walking, sitting. . . . I don’t
believe what others call meditation: that for ten minutes or 20 minutes you
do it and then just be your ordinary self for 24 hours and again meditate
for 20 minutes. It is like asking a person to breathe every day for 20
minutes and then forget all about it, because the person has to do many
other things! And then next day she/he can breathe again in the morning!
To me meditation is exactly like breathing. So whatsoever you are doing
and wherever you are. do it more consciously.

Just try for few minutes to walk consciously; be alert at each step and you
will be surprised that the quality of your walk is totally different. It is
relaxed. There is no tension and there is a subtle joy that is arising out of
your relaxed walking. And the more you become aware of this joy, the
more you would like to be awake.

Eat with awareness. Thirty million people in America are suffering from
overeating. Strange world we are living in; men are dying every day in
Ethiopia because they don’t have food. and millions are dying in America
because they have too much food, These people who are suffering from
obesity cannot resist eating. No doctor is going to help them, unless they
become aware; While they are eating. They have to be aware that a man of
awareness eats only as much as his body needs. He immediately feels that
now there is no need. the hunger is gone. he is content.

SubQuestion Ma ; 16

&1 Complete the sentence by choosing a suitable Chstion 1D TE9083304
option.

The writer believes that meditation
Ah X 1 can be done only when you are walking
< 2 needs to be done for only 20 minutes a day
o 3 is a process that requires consciousness

< 4 must be done many times during the day

Comprehension:

hittps:/iicdnd digialm.comfiper/g01/pub/1258ouchstone/AssesementQPHTMLMode 1/12580 182581 258018258530 110/ 53007 1642748468197, 20/64
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Read the following passage and answer the questions based on it.

My only work is to give you a clear-cut idea how you can become more
conscious; I call it meditation. Working, walking, sitting. . . . I don’t
believe what others call meditation; that for ten minutes or 20 minutes you
do it and then just be your ordinary self for 24 hours and again meditate
for 20 minutes. It is like asking a person to breathe every day for 20
minutes and then forget all about it. because the person has to do many
other things! And then next day she/he can breathe again in the morning!
To me meditation is exactly like breathing. So whatsoever you are doing
and wherever you are, do it more consciously.

Just try for few minutes to walk consciously; be alert at each step and you
will be surprised that the quality of your walk is totally different. It is
relaxed. There is no tension and there is a subtle joy that is arising out of
your relaxed walking. And the more you become aware of this joy, the
more you would like to be awake.

Eat with awareness. Thirty million people in America are suffering from
overeating. Strange world we are living in: men are dying every day in
Ethiopia because they don’t have food, and millions are dying in America
because they have too much food. These people who are suffering from
obesity cannot resist eating. No doctor is going to help them, unless they
become aware, while they are eating. They have to be aware that a man of
awareness eats only as much as his body needs. He immediately feels that
now there is no need. the hunger is gone. he is content.

SubQuestion No : 17

n.j . “
7 Choose the most suitable option to answer the L Guestion 10 - 723053394 J

question given below.

What shouldyon NOT do if you are obese?
An ' Be led by your love for food
X 2 Resist eating too much
X 2 Eat only what your body needs
X ¢ Consult a doctor

Comprehension:
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Read the following passage and answer the questions based on it.

My only work is to give you a clear-cut idea how you can become more
conscious; I call it meditation. Working, walking, sitting. . . . I don’t
believe what others call meditation; that for ten minutes or 20 minutes you
do it and then just be your ordinary self for 24 hours and again meditate
for 20 minutes. It is like asking a person to breathe every day for 20
minutes and then forget all about it. because the person has to do many
other things! And then next day she/he can breathe again in the morning!
To me meditation is exactly like breathing. So whatsoever you are doing
and wherever you are, do it more consciously.

Just try for few minutes to walk consciously; be alert at each step and you
will be surprised that the quality of your walk is totally different. It is
relaxed. There is no tension and there is a subtle joy that is arising out of
your relaxed walking. And the more you become aware of this joy, the
more you would like to be awake.

Eat with awareness. Thirty million people in America are suffering from
overeating. Strange world we are living in: men are dying every day in
Ethiopia because they don’t have food, and millions are dying in America
because they have too much food. These people who are suffering from
obesity cannot resist eating. No doctor is going to help them, unless they
become aware, while they are eating. They have to be aware that a man of
awareness eats only as much as his body needs. He immediately feels that
now there is no need. the hunger is gone. he is content.

SubQuestion No : 18

n.j . “
s Choose the most suitable option to answer the L Guestion 10 - 723053393 J

question given below.

What is the wony of life mentioned by the writer?
An o
® While some people die of hunger, others die of
overeating
X 2 Awareness is essential but it has no effect
/< 3. Many people are dying in Ethiopia
X 4

Many Americans are dying due to overeating

Comprehension:

hitps:/iedn4 digialm.comifperigd 1/puby 1258 touchstone/AssessmentQPHTMLMode 1/11 258018258/ 258018258530 110153097 11642 T48468/197 ...
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Read the following passage and answer the questions based on it.

My only work is to give you a clear-cut idea how you can become more
conscious; I call it meditation. Working, walking, sitting. . . . I don’t
believe what others call meditation; that for ten minutes or 20 minutes you
do it and then just be your ordinary self for 24 hours and again meditate
for 20 minutes. It is like asking a person to breathe every day for 20
minutes and then forget all about it. because the person has to do many
other things! And then next day she/he can breathe again in the morning!
To me meditation is exactly like breathing. So whatsoever you are doing
and wherever you are, do it more consciously.

Just try for few minutes to walk consciously; be alert at each step and you
will be surprised that the quality of your walk is totally different. It is
relaxed. There is no tension and there is a subtle joy that is arising out of
your relaxed walking. And the more you become aware of this joy, the
more you would like to be awake.

Eat with awareness. Thirty million people in America are suffering from
overeating. Strange world we are living in: men are dying every day in
Ethiopia because they don’t have food, and millions are dying in America
because they have too much food. These people who are suffering from
obesity cannot resist eating. No doctor is going to help them, unless they
become aware, while they are eating. They have to be aware that a man of
awareness eats only as much as his body needs. He immediately feels that
now there is no need. the hunger is gone. he is content.

SubQuestion No : 19

%! Choose the most suitable option to complete the L e — J

sentence given below.

‘When meditation is done with awareness, it:
An X 1 is painful and tedious.
2 2 makes you a forgetful person.
W 3 gives a great deal of satisfaction.

X 4 is quite time consuming.

Comprehension:

hitps:/iedn4 digialm.comifperigd 1/puby 1258 touchstone/AssessmentQPHTMLMode 1/11 258018258/ 258018258530 110153097 11642 T48468/197 ...
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Read the following passage and answer the questions based on it.

My only work is to give you a clear-cut idea how you can become more
conscious; I call it meditation. Working, walking, sitting. . . . I don’t
believe what others call meditation; that for ten minutes or 20 minutes you
do it and then just be your ordinary self for 24 hours and again meditate
for 20 minutes. It is like asking a person to breathe every day for 20
minutes and then forget all about it. because the person has to do many
other things! And then next day she/he can breathe again in the morning!
To me meditation is exactly like breathing. So whatsoever you are doing
and wherever you are, do it more consciously.

Just try for few minutes to walk consciously; be alert at each step and you
will be surprised that the quality of your walk is totally different. It is
relaxed. There is no tension and there is a subtle joy that is arising out of
your relaxed walking. And the more you become aware of this joy, the
more you would like to be awake.

Eat with awareness. Thirty million people in America are suffering from
overeating. Strange world we are living in: men are dying every day in
Ethiopia because they don’t have food, and millions are dying in America
because they have too much food. These people who are suffering from
obesity cannot resist eating. No doctor is going to help them, unless they
become aware, while they are eating. They have to be aware that a man of
awareness eats only as much as his body needs. He immediately feels that
now there is no need. the hunger is gone. he is content.

SubQuestion No : 20

Q.2 i : ;
0 One who is 15 an aware persoll. Cluestion 10 - 723053395

An X 1 terribly overweight

/< 2 eats unconsciously
< 2 alwaystense

v ¢ always alert

1 General Hindl
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frafof@e oy #f wETEs e IO T WREl & Seal
S|

§H TH W A W@ R, @ O oS sifeih wafE ol
FE W g, O gul & 9NBE gaT & s
Imyfabrtor A 3o AT Woherar @ g @g aftsmare
QIS @am § A IaE gwon & I 7 siewar e
gl ¥ AT # g §eadr AR gu-aita # corw F @
3T 3F AT T T ReR saar ST W g g79 @
fraa @l & 87 919 F AT g Fr NaT 7 Faar aod
AT IR TH Naet e, Tg AT -3 qS & T
FR FET T e a9 Sfed # QraRur SEaH & gifde
X o &, 9 Ui §gee A gWes o g 3 gH
mwmﬁﬁmaﬁvﬁ:mmaﬂm
FT AT B THAAT AT | TG dF g7 IS 97 F AfRF T
meaTfcA® Aodl & e F@ ®3E, 99 g% TS Fholdl 9ier
AR e gRws & 781, 3Rg e & g s, Fite
e 7wl & wrod dwear Fad Hﬁﬁﬂtg‘ﬂ'#mﬁ?ﬁﬁ'l
o formemaErdr @l &1 e ¢ F g7 'ea a8 @ T,
i g aaT o aRFRufE & o ¥ i IR &
i BT F5 3/ 39S B F Rer F, & i e e
FAT 3T AT HTTIN| Fh Bl g HeoF & SAeH oS
FOFR ¥, W I FH 3 Ameanst F a¥ & § e
e, @ "heldr ® it giffer S T qreer| 3 RArweranst
& o & F, FiEF T o gAY faaT & died § 3k guy
e 1 FIe g, F§ T TUH HUIT H T ALl g€ 9T, W

= & T 3T = 954 2, sufav ueT 39S J87 St
AR @I Sea fraeag gl Fer s g &F shaa &

HFRIcHS HITAA HIA Il 1 F3ir g AT 2rar

SubQuestion Mo ;1

Y frrT AT ¥ [ Question D : 723053400

& 1 gdnar
X 2 Awear

X 3 fAem
v i HEear

https:/iedn4 digialm comifperigd1/pub/1258touchstone/AssessmentQPHTMLMode 112580182581 258018258530 1101153087 11642748468/197 .,
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Comprehension:

farafaf@a s # cuqas 9T g8 T 99 F 3eal
cuEe

B UH W@ T A S @ 8, T o oS sifaw wfE s
FAS W ¢, dF GHEY aE ANNS Tad H TEY &
3YTARRTOT F 3T AT Fherar H e a3 afemee
WS T § 39 HAg g & e & gewar Ean
g1 ¥ §HT A e §hadr AR gE-eita # carw § g
wfda 3w AATRE W &7 RFK aa1 571 W g g7 &
fras &R &1 =5 a9 & 7 ¢ Fr Saa J g6aar gea
Far AT FFer aw A, a8 QAT et a1 # I8
TR 7ET & Swa 39 shad # \rueT FEAst g
X form &1, a8 oI §gce AR gued o & 3 g
THRATESF 50 a9 F FHFAT 91eC F sRoT v # urg
FT AT &Y THIAT Fel gl TG JF gF U aw A ATH T
FrefeAs Aedl #1 Baa A4 ST, a9 a% TU FHear 9=
g fow giRwe & 781, 3fg swse F9 & seen, w=6ifs
e Heal & 9red GHUAT Fo AR §@ & A T g
FT ATAEEr S F FEr § W g ane F@ a T,
Fifs gaAr Fwar o aRfPufaar & o € g afy g e
o BEg F=F 30 39w A7 A e o, O Y gwear =T
gAT 3 TSR A0 | FheT gl g Fesd & oA dd
FOSER &, WG 1 g7 39 Reeanst & v 7 & @9
WA, 3 TEaar & w3 giffer J87 T areer| 3T Awerart
& Rar F F, Fife I O gAR 9T F \ed § 3R guy
Sheaet & F1eT §, F8 IR TUH S H IR F¢1 ¢ 91, 38

arEa & fOIT 3 = 9SS £, SHfav §ed 39S 8T F
AR W AN S A aRT gI Fer s srar g & shaw &

THFRIHE PN F aralr #r 3t g8 787 el
SubQuestion No : 2
02 feufaat F1 JEeaT FT FROT AFY & [ Question D : 723053399
T X cfass afdg
X 2 armefrer ST
v faTer |
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X ¢ R @
Comprehension:
frafof@a s # caagEs Tea IO 7T WAl & el
a3
A TH W I A S @ B e 0 % s ghfe el
FA1$ W ¢, df GEY O NS I B T g
IMYTARIRIOT # 3T AT Wherar @ @ @9 afemare
TISTaT TEaT & HIA e s=onsit & IPeaa & sgewar @ar
gl XX §HT A e @hAdr AR gE-aita H carg § g
@fda 3aF AERE W & DFR 70T 5T @ g gFR T
forger @l &1 3@ a9 &1 A9 § $r fad A g6aar 9oa
FAT AR The a9 ST, I8 ST HA-HE 9 8 IF
FEY FE F e 39w shaw # wruror SEAHT S gl
w o @, 97 Ui Jgee AR gwew off g 3 gH
nﬁm@mwmﬁwaﬁvﬁ;mmaﬁm
FT AT & THATT ALY g1 FT T gH IS Hga A Afde T
meaTfens Hedl @ fBad @d HE, ga d@ JU Fhodr el
AR T aftwe & 71, 3fg s s & soen, =it
o 7ot F 9o WEEAT FAT SRR §@ & AW &
Fo fauemaEre s & Fger ¥ F T gwd J@ @ §a,
Faiteh gAY qwar ar SRRt & ¥ &1 Rg IR & e
7 @R FF 30 39 79 7 e o, O v awear =
FHI 3R TR AT FHA gl & AT H FoAdE
FeR g, 91g I & e Rwwast & a F & @9
@, @ Fherdr @ Hfr gifie Fg Y weer| Ha: Faweranst
& far o #1, e T ar gAY Shaa F dled ¢ st guy
Maat 1 F1eT ¢, FE IR TYF S F I FEY ¢ 91T, 3W
drsat & o Jmend #9359 8, SHIT Wi 39 a8; H
A @ AT G S AT gl FaT s g F shaa &
HFRIcHF HITANA F Treir Hr F=ir gr FT T
SubQuestion No ; 3

ne TITYF 9d &7 0T %: ‘ Question |D - 723053398

T X ARw Tedt B wee &
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v 2 Hage FTOIT

X3 memfens Ras

X 4 gereefter ER

Comprehension:

frafof@a aegiyr & camEs Ta 98 T $RAl & el
arrard|

FH UH W LT A Q@ R, TR O RS sifaw wafE s
FA1$ W ¢, df GEY aE ARG T B TE g
HTYTAPHIOT H I AT THAAT $ A 75 TR
BT TEaT & 39 3ada s=ondt & IWPeaa & sesar @ar
g ¥ wAm # e wwear AR go-eifa & wrw ¥ g
wfaa 3aF AATRE W FT DNFR aa7ar 51 W g g7 T
frasr ST F1 57 T19 FT A § B ST F Fhoar geg
AT AR TFEe Saa ST, g AT -3 91 & T8
FR T F owa 39a shas & §ruror HEAE S g
& o g, 98 o Tgee AR gwes off g 3 gH
mwmﬁmaﬁvﬁ:sﬁzﬁmaﬁm
FT AAT & THAT ALl gl T T gH A AT A AfFF T
mearferes Aeal & @ 7@ S, a9 g& U Fhedr Tl
gA fow AREe & 981, 3q rEe F g e, FitE
fomr Tt & 9o AGEar Fad AURTER W@ & GA @l gl
Fo fAuerEr @ & Fger § F g awd g g ',
Fiife ga awan ar aRfPufeat & & §) wg IR & e
7 HTa & 30 39a 74 & e o, ar T gwear =g
AR 3R TR AU | Thel BT & Fesd H AeH [dg
@R &, g I &7 I Rweanst & X F § @
@, A Thoar H Fer FfWS AL FT | 3T Rweranat
& REr 7 F, FifEF I ar gAY NEa Fr aled gk Fuy
aa F FeT g, FE IR YYF HOT F IeAT A g 9, 30
drsa & fore smona &t 939 €, $EfoT Wed IS oad @
THA T AT 92 A FT g1 Far M eramr g F Shaw A
THERIcHS PIALT FIF TTalt T 3 T 74T B

SubQuestion Mo ; 4
Q.4 [

Cuestion 1D ;723053401
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Te e ¥ B FE e w vsd §
FT AT F:

TV RER AT S &

X 2 e wEgmary qEReT|

X5 fATET TR aEd @

X ¢ fagar S @ @

Comprehension:
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An
-3
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frafof@e oy #f wETEs e IO T WREl & Seal
a2

BH UH OF T A ST W R, @ UE 1w s aRE e
FaT$ W g, af gE0 NG RS Ia7 Fr T 2
Imyfabrtor A 3o AT Woherar @ g @g aftsmare
BISTaT EAT & A9 TG Soom & e & Hehar @
gl ¥ AT # g §eadr AR gu-aita # corw F @
3T AT AAERF W 1 R g7ar 5 @ A @
frasr et @ 3@ a1 F A ¥ B haw F gwear g
FAT T TF ST ST, TF AT HET-HAT I 8! T
FE T8 o Fwa 3o Sfed &7 WrUReT FIEATHT F o gifae
X o &, 9 Ui §gee A gWes o g 3 gH
ﬂmwmﬁmaﬁcﬁ:aﬁaﬁmaﬂm
FT T & oIl Al ¢ 9 dF gH IS Sad H Afas T
meaTfcA® Aodl & e F@ ®3E, 99 g% TS Fholdl 9ier
AR v awe & afl, 3fg e s & seen, &40t
e 7wl & wrod dwear Fad Hﬂﬁﬂ?g‘ﬂ'%mﬁ?ﬁﬁ'l
o formemaErdr @l &1 e ¢ F g7 'ea a8 @ T,
Fife gad FdR o aRfPufoer & & &) g IR g e
AT AT =% 3@ 399 54 ¥ B &, ar A gwear =T
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X o geomat & 9fd &

Q.6 s ﬂg‘&?ﬂ' P TgF g JTeT o & [ Question 1D : 723053407
AN 31 sty

X2 3

v o g

X 4 ofra

O GrAfatEa § ¥ FE-gr aee oo 2 l Question ID : 723053412
Ans of 1« HIF

X2 ma

X3 zig

< 4 AT

Qs ‘HEUH AT #H F-81 FAH 7 Question 1D - 723053404
Ans o, A »

X 2 gawe

v FiuRT

X 4 wEfE

¥ =g gy & 3W Ty F ARG F7T AT T ‘ Question ID 723053416
v X arerd & H e

X 2 e @S

v S T AT

X 4 TTH HATT
a0 =a@e 7 ¥ Fia-3r o= gﬁ?ﬂT %“7 l Question 1D : 723053413

Ans x! s-ﬂg'
X 2 TFH&
X 3 I
o 9ga

M feafaa Tt 39 JYEATFT FH TIRT: { Question 1D : 723053414
e X 3w 4 oo i
X 2 Fat F @AY A FAE A=
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X 3 AY FT FHFT Ica FAdr H1aT
Vv IS FAR TR agd AgH I

Q.12

Ans

AT ofeg 1 gAY e AdT &
P i

v o HgaTdr
X 3 HET
-1

Question 10 - 723053409

Q.13

Ans

A ez T I () g
X1 e
v
X 5 g
X s fert

Question 10 - 723053406

.ﬁ_

Q.14

Ans

AR e F RFew &
&L HER
X 2 HEER
X5 #feEw
Vi W

Question 1D : 723053410

Ans

U5 SRR & & SETes €A 452 Y 79 F

X 1. et

X2
}(3.{1’3‘

vy

Cuestion 10 : 723053408

Q.16

Ans

‘Fe=ad & §Y =t g
v Fd+eEd
K 2 IS+
X 3 3T+=A
KX 4 FTHSa

Cuestion 1D: 723053405

Q17

Ans

hittps:/icdnd digialm comiiper/gd1/pub/ 1258 fouchstone/AssesementQPHTMLMode 1112580 18258/1 25801 825853011 D/ 53007 1164 2748468197,

T FOTEAT HEE AT B &
X1 OETer 2T ST

Cluestion 10 - 723053415

3264



Ti7i2018

hitps:iednd digialm.comiper/g01/pub/1258fouchstone/AssessmentQPHTMLMode 141 2580182581 25801825853 011001 530971164274 ..

v SHe BT
X3 Fg Y I ¥ F9C 35T
X 4 3T L TSAT

Q.18

Ans

frafafee # & aoFe o & 95T |

Cueestion 10 723053402

v T
X 2 |
X3 gty
X 4 SO

Q.19

Ans

oo T2 7 & 3 FEa &

Cueestion 10 723053411

X gy
X2 313

X3 sfaoia
v sEfeg

Q.20

Ans

TR s mam agg 2|

<L
X2 ®T

ASF

Ve

=

X4 o

Cheestion 10 : 723053403

Hom  Subjedl Relales

Q.1
Ans

Winich of the falfowing berth contro] mensiares can prevent conception even after fertilization?

/< 1 Tubal ligation

/< 2. Emergency contraceptive pills
o © Mifepristone

X 4 Condoms

Cuestion 10 - 723053434

Q.2
Ans

What is the termy given to the maximn volume of air 2 persen can breathe-in after o forced expiration”
X 1 Inspiratory capacity
X 2 Total lung capacity
/&< 3 Inspiratory reserve volume

v 4 Vital capacity

|

Cruestion 10 : 723053417

hitps:/icdn4. digialm.comiliperigd1/pub/1258 fouchstone/AssessmentQPHTMLMode 1/12580 18258/1 258018258530 110153007 11642T48468/197 ..,

Q.3 At what pH value, a basic amino acid has its isoelectric point? [

Chuestion 10 0 723053418

33564
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X1 AtpH=7
X2 AtpH=6.8
K3 AtpH<7
i AtpH=>7

Q.4

Erythebiastoder ot bt woriinion mocr i meensd i st it el e toltorming blood grovip?
#< 1. AB positive
/< 2 O positive
/& 3. B positive
« ¢ AB negative

[

Cruestion 10 723053427

Q.s

‘What is the basis of molecular technique called therapeutic cloning?
# 1 Two somatic cells are made to hybridize
/< 2. A hybrid is produced by sexual means
(¥ &3

Somatic cell nucleus is transferred to an ovum

X 4
Nucleus of a gamete is artificially introduced to an ovum

0.6

Ans

Which of the following formed elements of blood do not have a nuclei?
X 1. Neutrophils
v © Platelets
& 3 Eosinophils
#< 4 Basophils

Cuestion 1D 723053419

Question 1D : 723053426

tkich ol ibe mmmd hoprelbive degenermion ofskeletl misile, sty due 1 genet: disonder”
X1 Myastﬁz’ﬁﬂ éravis
v © Muscular dystrophy
& 3 Rheumatism
X 4 Gouty arthritis

[

Chuestion 10 0 723053432

Q.8

Whiat is the name given to & centre for the preservation of dried specimien of plants?
X 1 Botanical park
/< 2 Botanical garden
& 3 Museum
« ¢ Herbarium

Cuestion 1D 1723053436

Q9
Ans

https://cdn4. digialm.com//iper/g01/pub/1258/touchstone/AssessmentQPHTMLMode1/1258018258/125801825853D110/153007 11642748468/197 ...

In enzyme classification, enzyme “DNA gyrase”™ belongs to which of the following classes?
X 1 Ligase
' 2 Isomerase
X 3 Ubiquitin

|

Question 10 : 723053421
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< 4 Hydrolase

Q.10
Ans

Which of the Following diseases is associated with reduced “Lung Compliance™
« ' Restrictive lung disorder
& 2. Asthma
/< 3 Obstructive lung disorder
& 4 Bronchitis

Cruestion 10

(723053429

Q.11

Gastric intrinsic factor (GIF) is secreted by which cells of the gastric gland?
¥ ' Parietal cells
< 2. Foveolar cells
X 3 G-cells
#< 4 Chief cells

Cheestion 10

(723053424

Q.12

Which of the folbowing mobeoules results in maternal pene effect whn presnt in cytoplasn befors Zypotic gone

expresiion’

#< 1 Only proteins

X 2 Only RNA

« ° RNA and proteins
& 4 Mitochondrial DNA

Q.13

Ans

Which of the following sexually transmitted diseases is not curable?
X 1 Chlamydia '
X 2 Syphilis
« © Genital Herpes
< 4 Gonorrhea

Q.14

Ans

(

Cluestion 1D

723053422

{

Cuestion 1D

(T23053430

What is “HbA16™

/< 1 Methylated hemoglobin
& 2 Adult hemoglobin 1

& 2 Sulfated hemoglobin
v ¢ Glycated hemoglobin A

Cluestion 10

1T23053428

Q.15

Ans

Which of the following functions is not regulated by thyroid hormones?
o Synthesis of Vitamin D
# 2. Basal metabolic rate
< 3 Metabolism of carbohydrates

& 4 Blood calcium levels

Cuestion 1D

(T23053433

.16

Ans

hitps:/icdn4. digialm.comiliperigd1/pub/1 258 fouchstone/AssessmentQPHTMLMode 1/12580 18258/1 258018258530 110153007 11642T48468/197 ..,

What is a “facet” in skeletal system?
< 1 Sharp, slender projection

Cruestion 10

1723053425

35064
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« 2 Smooth. flat articular surface

& 3 Tube-like opening
#< 4 Shallow depression

.17 Which of the Belboiwing s the ouscome whien n single wmiferilized eg wplits before foctilization and is then Ferilized By
s Question 10 - 723053420

Ans 3 i Fraternal twins
v 2 Half-identical twins
< 3 Identical twins
X 4 Dizygotic twins

Q.18 Which of the following does ot determine exchangs of between alveoli and blood?
e RS ' [ Question 1D : 723053423

Ans X 1
Thickness of the cell membranes involved in between

#< 2 Solubility of gases
' 3 Partial pressure of gases in atmosphere

X 4 Partial pressure gases in blood

119 Which of the following i 0 condition where mpid nwseulss spasms ocour due 1o bow Cn7™ {n body fhad?

Ans 3¢ 1. Muscle fatigue
2 Tetany
/< 3 Rigor mortis

X 4. Wave summation

Cluestion 1D - 723053431

Q.20 Which of the following does nol work adsecond meéssenger in cell signaling?
Ans  of 1 Cholestérol
X 2 Inositoliriphosphate

Cuestion 10 - 723053435

x X Cai_'—
X 4 cGMP
Section  Subject Related
Q1 Which of the following is not a feature of small intestine? T —

Ans X 1 Numerous villi
< 2 Presence of Goblet cells
# 3 Plicae circulares
' 4 Presence of taeniae coli

Q.2 What is the full form of the termi GIFT, used in assisted reprodustive technology?
= [ Cheestion 10 : 723053453

Ans  of 1 Gamete intrafallopian tube transfer
X 2 Gamete inside fallopian tube

hitps:/icdn4. digialm.comiliperigd1/publ/1258 fouchstone/AssessmentQPHTMLMode 1/1258018258/125801825853D 110/1 53007 11642748468/197... 36164
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#< 3 Gamete in the fallopian tube

X 4 Gamete in fallopian tube transfer

0,3 ol physaoogy, whe i the Term s b the langer sumtmactions fevalting fom simsl arsiving of ifferen times?
Ans 1 Muscle fatigue

< 2. Muscle tone

« © Wave summation

& 4 Unfused tetanus

Cluestion 10 : 723053437

ﬁ_d. Wihath off the Folbowing takoes place under mfluesce of Dilnsdroteniosterons (DHT) during cmbryomss developmet
[ Cluestion 10 : 723053440

Ans X 1 Development of wolffian duct
X 2 Development of seminal vesicle
v © Development of external genitalia
# 4. Masculinization of brain

Q.5 Ingeneral, which of the following is the genetic composition of bacteriophage? — -
Ans X 1. ds RNA :

v 2 dsDNA > W |

X 2 ssRNA '

< 4 ss DNA

—————————x
Q.6 mummm-mmmwmm#mmglm&gﬁ:ﬁml F

Ans X 1. Relaxin
v 2 hCG
/X 3 Progesterone
X 4 hPL

Cueestion 10 723053450

Q7 Which of the following taxons is not a phylum? Question 1D : 723053442
Ans o | Vertebrata
& 2. Aschelhelminthes
# 3. Echinodermata
X 4 Arthropoda

Q.8 Which of the following is an example of homologous organs?
Ans o 1 Mouth parts of insects

< 2 Wings of birds and insects

& 3 Vestigial organs

< 4 Wings of birds and bats

Cuestion 10 : 723053441

Q.9  Which of the following germ lavers contributes to the formation of genital 7
el st [ Question 1D : 723053446

Ans X 1. Mesoderm only

hitps:/icdn4. digialm.comiliperigd1/pub/1258 fouchstone/AssessmentQPHTMLMode 1/1258018258/125801825853D 110/1 53007 1642748468197, 37/64



Ti7i2018

hittps:iednd digialm.comifper/g01/pub/1258fouchstone/AssessmentQPHTMLMode 141 2580182581 2580182585301 530971164274 ..

« 2 Endoderm. mesoderm and ectoderm

< 3 Mesoderm and endoderm
X 4 Mesoderm and ectoderm

@10

Ans

Ozone hole over Antarctica is due to which of the following poliutants? [

Question 1D : 723053455

& 1 Sulfur oxides

+ = Chlorofluorocarbons
X 3 Nitrogen oxides

#< 4 Phosphates

a1
Ans

The establishment of mature milk supply from mammary glands is referred to as;

Cueestion 10 ; 723053445

& 1 Involution

o 2 Galactopoiesis
X 3 Lactogenesis
& 4 Mammogenesis

Q.12

Ans

- -

Presence of which of the following is not a characteristic of Ctenophores?

Question 1D:723053443

< 1 Mesoglea

& 2. Colloblasts

« 2 Polymorphism
X 4 Larval forms

g

@13

Ans

DervoE BT

'Pf'h.lin'Cbtnﬂmgi\mm:ignuhihwm_ww%ﬂun_ﬂmﬁmhy:hpﬁmwkmﬂtﬂbm[

Question 10 - 723053439

X 1 Graded hyperpolarizing potential
« © Temporal summation

X 3 Graded depolarizing potential
/< 4 Spatial summation

Q.14
Ans

In Isumnamys, what s the term wsed to describe the development of mammary glams in males? [

« ' Gynecomastia

Ceestion 1D 723053449

& 2 Thelarche
X 3 Polycythemia
/< 4 Polythelia

Q.15

Ans

hitps:/icdn4. digialm.comiliperigd1/pub/1258 fouchstone/AssessmentQPHTMLMode 1/12580 18258/1 258018258530 1101153007 11642T48468/197 ..,

What are ependymal cells? [

Question 1D : 723053451

Y
Cells surrounding CSF filled ventricles in brain

/< 2 Macrophages of CNS
< 3. Most abundant cell types in CNS
#< 4 Site of protein synthesis in neurons

3864
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Question 10 : 723053456

Q.16 Which of the following b staes the growth is dietated not by the fotad svadlable resources but by the
Fearcest resource?

Ans X 1. Law of diminishing returns
# 2. Shelford law of tolerance
« © Liebig's law of minimum
& 4 Hardy Weinberg Law

Q17 s o
Ans (1. 90 mg/min, 25 mg/min
' 2 84 mg/min, no glucose will excreted out

X 3
108 mg/min. will be excreted out at the same rate

4. 120 mg/min, almost zero mg

plaims. glocose concentration i 70 mp/ 100 m] and GFR is 1.0 mi'min, then how much glocose will be fikered.
[ Question |0 : 723053452

Q.18 Which of the following plant fatty acids is used to synthesize “Omega 3" fats in animals?
Ans X 1 Linoleic acid
& 2. Oleic acid
v © Alpha-linolenic acid |
/< 4 Palmitoleic acid

Question ID : 723053438

e =
Q.19 o human piale fertility discosders, which of fhe ﬁwagmiﬂmmmuuwﬁ\q{

Cuestion |0 723053444

Ans o ' Slow moving sperm
#< 2 Dead sperm
X 3 Defective testicular vein
7 4 Undescended testis

Q.20 What isthe effect of 2, 3 bisphosphoglycerate (BPG) binding with hemoglobin?
Ans 1. No effect on O; binding

v Decreased O, affinity for hemoglobin

# 3 Increased CO;, affinity for hemoglobin

X 4 Increased O, affinity for hemoglobin

Ceestion 10 723053454

Seatior - Subject Related

Q.1 Prokayotes, umeelisbar, with or withoss 2 cell wall se chamereruic féanres of which of the following kiagdoms?
Ans X 1. Protista

< 2 Animalia

o 5 Monera

/< 4 Fungi

Cruestion |0 : 723053466

Q_z Encyin ploooss mokss i commenty wd i glkoss evtimabon. I i derived Bom which of the fllowmg anganiana’?

Cuestion 10 - 723053464

hitps:/icdn4. digialm.comiliperigd1/publ/1258 fouchstone/AssessmentQPHTMLMode 1/1258018258/125801825853D 110/1 53007 11642748468/197... 39164
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Ans
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X 1. Algae
' 2 Fungi
< 2 Pig
& 4 Rat

Q.3

Ans

Whas 15 the teren given 10 8 ghoup of species that can sirvive (e by the activation of donmant vepaative trads 1o
produce regroath?

& 1 Sibling species

X 2 Shredders

X 3 Guild

«' 4 Resprouting species

{

Cluestion 10 : 723053469

Q.4

Wihich of the following is a.réason of platsan i the fotrth phase of Sigmoid growih curve?
#< 1 Birth rate is equal to death rate
#< 2 Saturation of reproductive capacity
' © Resource limitation
# 4 Increased death rate

(

Cluestion 10 : 723053461

Q.5

Ans

Which of the following is a copper releasing intra uterine device (TUD)?
v ' Multiload 375
#< 2 Progestasert
X 2 Vaults
X 4 LNG-20

I

g —

 Question 1D - 723053458

Q.6

Ans

In non-chordates, the nerve cord is:
X 1 Ventsal. hollew and single
/< 2 Is dorsal, hollow and single
v © Ventral. solid and double
X 4 Altogether absent

Cluestion 10 : 723053473

Q.7

Creaios s cayzig s s AT 10 fora sesin o3 ADP . sl o wlich e o
+ ' Random sequential reaction
X 2 Ping-pong reaction
X 3 Sequential bi-substrate reaction

/< 4 Oxidation reduction reaction

Question 1D : 723053471

Qs
Ans

hitps:/icdn4. digialm.comiliperigd1/pub/1258 fouchstone/AssessmentQPHTMLMode 1/12580 18258/1 258018258530 110153007 11642T48468/197 ..,

I= algne, fissdon berwesn cee Birge, nomimatile fensale gamens and & smaller motlhs male gamene b rermed a5
« 1 Oogamous

< 2 Anisogamous

/< 3 Isogamous

/< 4 Homogamous

Cuestion 1D: 723053463
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Q9

Ans

Bhilazeral troe coshomates, wills body-sejenentation-Jie rings, M chamcienistic feaures of which of te following
phybams® [ Cleestion 10 - T23053467

& 1 Chordata

« ° Annelida

& 3 Aschelhelminthes
& 4 Hemichordata

Q.10

Ans

Which of the following is not a form of stored food in algae? Question 1D - 723053468

& 1 Laminarin
o 2 Algin

X 3 Floridean
< 4 Mannitol

Qan
Ans

Which of the following is considered in five kingdom classification by Whittaker? [
& 1 Lichens

Crestion 100 723053476

X 2 Viroid
X 3 Virus
«' 4 Mycoplasma P

a2
Ans

‘What will happen to the énzyme activity with gradual decrease in its opti nifag I

Question 1D : 723053475
o 1 It will decrease

& 2 It will first increase then decrease
&< 3 It will increase
& 4 It will first decrease then increase

Q.13

Ans

Which of the following is the major cause of “Emphysema”? Question ID - 723053458

/1 Auto immunity
/< 2 Gene mutation
/< 3 Bacterial infection
' 4 Cigarette smoking

Q.14

mummm in & nahiral plnaielogical condttion that peuilly o deckas = nianbet of oveisn cpgs dnd &op &
the fevels ol mvarian borsneney? [ Ceestion 1D - 723053470

< 1 Hypopituitarism
& 2 Ovarian cancer

« 3 Reproductive aging
X 4 Hypothyroidism

Q15
Ans

https://cdn4. digialm.com//iper/g01/pub/1258/touchstone/AssessmentQPHTMLMode1/1258018258/125801825853D110/153007 11642748468/197 ...

In an ecological succession, which of the following is generally a “k-selected” species?

v i Climax species

Question 10 723053462

/< 2. Sustaining species
#< 3 Seral stage species

41/64



Ti7i2018 hittps:iednd digialm.comiper/g01/pub/1258fouchstone/AssessmentQPHTMLMode 141 2580182581 25801825853 011001 530971164274 ..

< 4. Pioneer species

Q116 Which of the foliewing baaline i jons % inthe the pathwary of (i, pooteins. s carbolydmmes”
( Cheestion 10 723053465

Ans (1. Pyruvate

o 2 Acetyl CoA
X 3 Glycerol
&K 4 Glucose

Q17 Which of the following plants has diplontic life cycle? T ——

Ans o 1 Fucus
/< 2 Polysiphonia
< 3 Volvox
# 4 Laminaria

Q.18 In ZIFT, upto what cleavage stage, the fenilized ovum can be transfierred in fallopian tobe? 0,
Question 1D : 723053457

Ans < 1. Fourth cleavage
X 2 First cleavage
« 3 Third cleavage _
X 4 Second cleavage .

Q.19 Which of the following reactions is catalyzed by non-proteif ea’amﬁ-?{ Guestion 1D 723053472

Ans  of 4
Hydrolysis of phosphodiester bonds in RNA

X 2 Removal of oxygen from substrate
/< ¢ Hydroxylation of steroids
X 4. Hydrolysis of protein

Q.20 .. : P : -
Who invented the techniqus of test tube fentilization in angiosperms? Guusstion ID ~723053480

Ans X 1. Deonarayan Misra
' 2 Panchanan Maheshwari

/< 3 G.N. Ramachandran
X 4 W. G. Rosen

Seobon | Subject Related

(.1 Daring programened cell deah, a cell does pot undego which one:of the following plysiological changes?

Cueestion 1D 723053481
Ans X 1 Blebbing

#< 2 Caspase activation
/< 3 Chromatin condensation
( 4

hitps:/icdn4. digialm.comiliperigd1/pub/1 258 fouchstone/AssessmentQPHTMLMode 1/12580 18258/1 258018258530 110153007 11642T48468/197 ..,
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Cellular content leakage to extracellular fluid

Q.2

Ans

Which of the following is a sex limited trait?

Cheestion 1D

(723053484

& 1. Color blindness

X 2 Breast development in males
« © Beard development in males
& 4 Pattern of baldness

Q.3

Ans

In & Fardy Weinberg popalation, what will be e frequency of individaal with penecype “sa™ If freqoency of allefe "A"[
0T

Cruestion 10

(723053488

< 1 0.90
X2 042
W 5 0.09
< 4 049

Q.4

Which of the following is an autosomal dominant disorder? [

Cuestion 1D

'723053493

< 1. Red-green color blindness
< 2. G6PD deficiency

« ° Achondroplasia

# 4. Hemophilia

Which of the following is not a biological oxidoréductase? !

Question 10

723053479

/< 1 Malate dehydrogenase
< 2 Nitrogenase
X 4 Peroxidase

Q.6

Ans

_= ==

Witheh of the Dl i Peatures it conaadered for the naturad chasaification systam of plams by Betham and
Hooker?

Cluestion 1D

ST23I053477

< 1 Plant anatomy

< 2 Plant embryology
+ 3 Plant genome

4. Plant ultrastructure

Q.7

Wt will be the type of nustation B <1 i replaced with A" at 9% pocition in the sequesce AUGAAGULLGGC?

Question 10

1723053492

< 1 Frameshift mutation
X 2 Transition mutation
< 3 Inversion

o ¢ Transversion mutation

Q.8

https://cdn4. digialm.com//iper/g01/pub/1258/touchstone/AssessmentQPHTMLMode1/1258018258/125801825853D110/153007 11642748468/197 ...

During mefosts | anaphase, spindle fivers from opposite poles attach the kinetochore o separate:
# 1 Sister chromatids

Clueestion 1D

1723053482

# 2. Non-homologous chromosomes

43064
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# 3. Non sister chromatids
« ¢+ Homologous chromosomes

Ans

Q.3 Which of the following viruses will evolve faster than others? [

Cuestion 10 - 723053483

« ' RNA virus with short life span
# 2 ds DNA virus

&K 3 RNA virus

X 4 ss DNA virus

Ans

Q.10 The messnchyme is an ensbryonks tisvas that prismanily gives rse to which of the follewing tissnes Inl-idm‘.‘[

Chuestion 10 723053490

& 1 Neural tissue

& 2 Epithelial tissue
& 3 Muscular tissue
v 4 Connective tissue

Ans

@1 Which of the following is a plant hemoglobin? [

Question 1D+ 723053487

#< 1 Hemoglobin Alc
< 2 Hemoglobin M
v © Leghemoglobin
< 4 Hemoglobin S

Ans

Q12 “Carrageenan” s obtained from which of the following? [

Cluestion 10 : 723053478

X ' Laminaria
/< 2. Saraggasum
X 3 Fucus

W 4 G:gm |

Ans

Q.13 Which of the following epithelial tissues lines the lung alveoli?

Cluestion 10 : 723053480

# * Stratified columnar
& 2 Ciliated simple columnar

X 3 Simple cuboidal
« ¢ Simple squamous

Ans

Q.14 Which of the following medifications of DMNA 15 the reason of “genomic imprinting™?

Question 10 : 723053491

X 1. Acylation

« 2 Methylation
< 3 Glycosylation
X 4 Sialyation

Ans

.15 "Which of 1he fodlowing envirommenind factors plays an important role insex determination in reptiles?

X 1 Carbon dioxide concentration in air l

Cuestion 1D 1723053494

hitps:/icdn4. digialm.comiliperigd1/pub/1258 fouchstone/AssessmentQPHTMLMode 1/1258018258/12580 18258530 110/1 53007 1642748468197, 44/64
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& 2 Humidity
# 3 Rainfall

« ¢ Temperature

Q.16 i ing i i ; i .
Which of the following is the first carboxylation product of C; plants? ristion i T53083486

Ans X 1. 3-phosphoglyceric acid
/< 2. Phosphoglyceraldehyde
& 3 Maleic acid
¥ 4 Oxaloacetic acid

Q;‘T What i fhe e gives by 8 ch J gt wheze & segment of ¢ i pETed Eeound L0 witkina
i [ Question 10 : 723053485

Ans X 1. Diacentric inversion
v 2 Paracentric inversion
& 3 Acentric inversion
/< 4 Pericentric inversion

'_-____

1,18 Whanwill be e relative rote of ansgication, with nespoct b0 huumidiny i sed] and air, when woil in wet and amorphers
lane Quesl;gn 1B 723053485
S i

Ans o | Maximum v
& 2 Minimum '
< 3 Below average
& 4 Moderate

Q.19 Which of the following provides evidence for evolution of Homo sapiens? [
Ans (1 Comparative biochemistry
X 2 Comparative anatomy
/< 2 Comparative genome

v . Fossil records

Chuestion 10 0 723053496

N SfRE # o T TRFa v 272 [ Question 1D + 723053486
o R

X 2 g

< 3 A

X 4 Hdeard
Section Subject Related

.1 Which of the following stalements is coppect with regard to nervous system of earthworm?

Ans x 1.

Ganglia are located at the interface of two body segments

Creestion 100 723053498

« 2 Nerve cord bifurcates at the anterior region

hitps:/icdn4. digialm.comiliperigd1/pub/1258 fouchstone/AssessmentQPHTMLMode 1/1258018258/125801825853D 110/1 53007 11642748468/197...  45/64
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X 3. Nerve cord is single and present ventrally
< 4

Anterior nerve ring does not include cerebral ganglion

Q.2
Ans

Which of the following hormones can increase internodal tength of genetically dwarf plans?
& 1 Auxin

Cheestion 10 : 723053502

W' 2 Gibberellic acid
< 3 Abscissic acid
#< 4 Cytokinin

0.3

Pamhivie plaerigbate pathoay i+ @ major carbobdrane messbolic pathway i which of the Sollowiss bade celh?

< 1 Germ cells

Question 1D : 723053510

< 2 Nerve cells
« ° Red blood cells
< 4 Muscle cells

Q.4

‘Which of the following cell junctions are absent at intercalated discs? [

Quesﬁomj:[ﬁif":?'ﬂmﬁ .

+ ' Tight junctions
& 2 Desmosomes, Adhering and Gap junctions

< 3 Desmosomes
#< 4 Adhering and Gap junctions

Q.5

Deforestation sesulis iis s inerease in which of the TlkwillGistio:? [

Cluestion 10 : 723053501

X 1. Soil fertility
/< 2 Rainfall

V= Soil erosion
X 4 Biodiversity

Q.6

Ans

=

What is the function of EDTA in genomic DNA isolation technique?

Cluestion 1D : 723053511

& 1 To extract hydrophobic proteins
#< 2 To lyse the cell membrane

< 2 To dissolve DNA
« 4 To inhibit DNase

(=)
Ans

The first clinical gene therapy was given in 1990 to rectify which of the following diseases? [

Ceestion 1D : 723053516

X 1. Hemophilia
X 2. Cystic fibrosis
& 2 X-linked SCID
+ 4 ADA-SCID

Q.8

Ans

https://cdn4. digialm.com//iper/g01/pub/1258/touchstone/AssessmentQPHTMLMode1/1258018258/125801825853D110/153007 11642748468/197 ...

What is the phesatypic ratia for the progeny of dilipbeid epistasis in which both peses ane dommarnt and both ane
epstatic 1o aach other™

Question 10 : 723053506

K Le6:d
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KE6:3:3:1
v12:3:1
X49:3:4

Q.9 Fow many genetically different gametes are possible by an individual of genotype AsBbCE?
Ans of 1 8

<216

X3 64

X4 36
Q.10 Which of the following plants does not show Kranz anatomy?
Ans X' 1 Wheat

X 2. Maize

/< 3 Sugarcane

v ¢ Rice

Cuestion |0 - 723053504

Cuestion 10 - 723053505

e : —
Q.11 How many types of gametes are possible with an organism with 2n=24? &uss_iioq.llﬁ'?i'?mﬁ :
e IR ol £
v 12 . L
X 3 746 " . '
K4 22
Q.12 Bt toxins are effective against which of the mumm[
Ans X 1. Siphonoptera
W Cﬂlqum.
X Heniptera
X 4 Siphunculata

Question 10 : 723053509

Q.13 Who is considered to be the father of green revolution in India? [
Ans X 1. Panchanan Maheshwari
# 2 G.N. Ramachandran
< 3 Deonarayan Misra
« ¢ M. S. Swaminathan

Cruestion 10 - 723053513

Q.14 gaffron is extracted from which part of the Crocus plant? [ —
Ans X 1 Stamen

v & Stigma

&< 3 Ovules

< 4 Flower petals

Question 10 : 723053500

Q.15 Pasffas # 3 19 & o= Cdki mnmwmmﬁ[
Ans
hitps:/icdn4. digialm. comiliperigd1/pubi1258/ouchstonelAssessmentQPHTMLMode /112580182581 258018258530 110/153007 11642748468/197 ... 47764
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X1 Tyr 14 3R Tyr 15 9T BIERfEer

< 2 Thr 161 9T SFERIRAAT
V'3 Tyr 14 3R Tyr 15 W AFERITERE
X 4 groEaa & 9y Bues

QLA Whith of the Gollowing molecdlar sipests was'wese knomn even befors e chromosoinal theory of Bberilance gven by
S ted Baverd & year 19027 Creestion 1D : 723053503

Ans X 1 DNA structure
+ 2 Mendelian laws of inheritance
< 3 Genetic recombination
X 4 Linkage

Q.47 What s the protability that a plast with gmeotype peww will be produced by panmtal plants of genotypes FpiWn and
Ppww?

Ans X1 1/3

vz 1/8

X 3 3/4

K4 1/4
Q.18 Which of the following complex holds the sister chromatids together during metaphase]
Ans X 1. Adhesin

v 2 Cohesisn

#< 3 Separin

#< 4 Ubiquitin

Creestion 10 - 723053515

Cheestion 10 : 723053514

R

Q.19 What is the term givea fo the waler loss by plants in its liquid phase? \\
Ans X 1 Diffusion
X 2 Root pressure
#< 3 Transpiration

o+ Guttation

Cuestion 10 - 723053499

Q.20 ™= i of Im g piryies, without meiosis snd spoves, from vegetenive or asexual cells of the sporophyte, t :
ke Cuestion 10723053507

Ans X 1. Apomixes
X 2 Apogamy
v 5 Apospory
/< 4 Polyembryony

Sechion - Siubject Related

.1 What is the sedimentation coefficient of TRNA present in 408 ribosomal subunit?
Ans TG ¥ 188

W 2 188

hitps:/icdn4. digialm.comiliperigd1/pub/1258 fouchstone/AssessmentQPHTMLMode 1/1258018258/125801825853D 110/1 53007 11642748468/197...  48/54
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X 3 58S
X4 58

Q.2

In whdich of the following fypes of pollination tse dhhwwmmﬂymwﬂmm?[

X 1 Autogamy

Question 10 : 723053531

+ 2 Xenogamy
/< 3 Geitonogamy
X 4 Cleistogamy

Q.3

Ans

Where are untranslated regions (UTRs) present in an mRNA?

Cluestion 10 : 723053532

# 1. Within translation unit
< 2 Downstream of stop codon
#< 3. Upstream of start codon

o 4
Both upstream and downstream of translation unit

a4
Ans

ﬁmlﬂh“mmﬂammm"M"pﬁlmumwnmmm'ﬁﬁ'[

' 1 Aaa

Question 1B 723053521

i

X2 Aa
X 5 AAa
X4 AA

Thoe dissass with whichs f the Tolwing weoetss abooemialitscs cannet be shiliod uiing mmﬁﬂuﬂ'm&r [

« 1 Polygenic disorders

Chuestion 10 723053522

Xz Chmmﬂﬂ?mal aberration

Q.6
Ans

Whist will be the potentinl phesiotypes in the offspring of parents of blood groups AB and O7

Xi114A 1/2Band1/40

Creestion 100 723053519

X2 34Aand1/40
3 12Band12A
X412Aand120

QT

A proltin conlaining 200 aming scids will rogssn & g with a minimaan of bow many coding bake pair boag it
synthesis?

Cuestion 10 - 723053526

< 11300
X 2900
< 31500
W 4. 600

Q.8

Ans

https:/icdn4. digialm. comiliperigd1/publ 1258 ouchstone/AssessmentQPHTMLMode 1//1258018258/125801825853D110/153007 11642748468/197 ..

The randomly interbreeding local population is referred to as: [

Cuestion 1D 723053535

#< * Metapopulation

49764
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X 2 Allopatric population
v i Deme

/< 4 Sympatric population

Q.’H_ Daring metaphase 1, the point of contact betwesn homelogous chromesomes (tetrad) s termed as:
[ Question 1D : 723053524

Ans X 1. Nucleosome
& 2. Kinetochore
v i Chiasmata
#< 4 Centromere

ﬂ.1u . " N " W " Tty
How many centrioles are present in an animal cell during mitosis? [ Question 10 - 723053520

Ans o 1 Four
/< 2 None
< 3 One
X 4 Two

Question ID : 723053530

Ch A1 Gomgeperm stomge of poflen grains o ciop breoding peograms can be done a1 which of e following remperurssT

Ans ',;. -196 °C [
ME r. U
X3 -20°C : '
R4 25°C

Q.12 Whichofthe fllowing eukiryotic DNA polymerass aiso ave a riof esing abilty? [
Ans X 1 Polymerase gamma

« ° Polymerase epsilon

X 2 Polymerasebeta

X 4. Polymerase alpha

Question 10 - 723053527

— —
Q.13 By whi i i jev i
By which of the following methods is dosage compensation achieved in Drosophila? { Question 1D - 723053536
Ans x i
Decrease in transcription by half in both X chromosomes in female
b
Inactivation of one X chromosome in female
Xz
Is randomly achieved by any one of the methods mentioned in other options here
o 4

Two fold increase in transcription of single male X-chromosome

Q.14 Nfammals have evolved from which of the following lineages?
Ans X 1. Sauropsids

& 2 Dinosaurs

# 3 Thecodonts

« + Therapsids

Cheestion 10 : 723053534

hitps:/icdn4. digialm.comiliperigd1/pub/1258 fouchstone/AssessmentQPHTMLMode 1/1258018258/125801825853D 110/1 53007 1164274846897, 50/64
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Q.15 Which of the following antibodies can cross placenta during pregnancy?
Ans x 1 IgM

X 2 Igh

X3 IgE

W o 1gG

Cluestion 10 - 723053529

Q.16 Which of the following is thie source of new allele of a gene in a Handy Welnbere populstion”
Ans X 1. Genetic drift

v 2 Mutation

& 3 Natural selection

X 4 Gene flow

Cluestion 10 : 723053523

QA7 Which of the following is the most common cause of common cold?
Ans - X 1. Archaebacteria

& 2 Influenza virus

v Rhinovirus

X 4 Streptococcus bacteria

Question 1D : 723053528

o]

Q18 Which of the following is surrounded by Guard cells?
Ans X 1 Xylem

« 2 Stomata

/< 3 Phloem

X 4 Subsidiary cells

Question 10 723053533

Y

Q.19 Which of ihe Sallonciig 558 Bellneey Sne thords wasimed kniially for e developeneat of aspenic Bt coment?
Ans K Direct DNA uptake

v Agrob&tﬁ‘ium mediated gene transfer

X 3 Micro injection

#< 4 Plasmid DNA coated particles

Question 10 : 723053517

Q.20 Pwemg primarny ssccession in witer, which of the foliowing stages will come i between “resdrmy™ and climu
g e

Ans X 1. Phytoplanktons
X 2 Free floating and rooted submerged plants
& 3 Submerged and free-floating plants
¥ ¢ Marsh-meadow and scrub

|

Question 10 : 723053518

Seobon | Subject Related

Q.1  Which of the following is a prevalent cawse resulting in the loss of biodiversity in nature?
Ans X 1 Decrease in mutation rate

hitps:/icdn4. digialm.comiliperigd1/pub/1 258 fouchstone/AssessmentQPHTMLMode 1/12580 18258/1 258018258530 110153007 11642T48468/197 ..,
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< 2. Population explosion
X 2 Stability in ecosystem
« ¢ Habitat loss and fragmentation

Q.2 Which of the following diagnostic tests is based igen-antibody interaction?
o g diagnostic tests is on antigen-antibody in “L Question 10 - 723053548

Ans 1 UTI (Urinary Tract Infection) test
v 2 Widal test
& 3 Glucose estimation
X 4 Test for gestational diabetes

Q3 Which of the following drugs is a hallucinogen? [ St iD SRR
Ans o 1 Lysergic acid diethylamide (LSD)

& 2 Crack

# 3 Heroin

/< 4 Opium

Q4 Which of the following is a co-factor of DNA Taq polymerase? [
ans g Mgz_ —..
X2 ca?t '
X 3 EDTA
X4+cr

.5 Thetrensgenic goat. modified for @ variant of traman Souse plasniinoges sctivaon, tecrsles the desired profein hn?urh[

Question 1D : 723053537

of the ffowing body flaidi Cuestion 10 723053543

Ans X 1 Blood
X 2 Lymph
< 3 Urine
v o Milk
Q.6 Inmalecular biology, an usksermn region of & chenmasome can b denifed with which of the folloming techmiges”
Ans o 1 Chromosome Walking [
& 2 Southern blotting

X 2 PCR
< 4 ELISA

Cuestion 1D 1723053546

Q7 whi s 15 the indk ; i
Which of the following is the indigenous dairy cattle of India? [ T eSS

Ans 3 1. Jersey
& 2 Holstein-Friesian (HF)
& 3 Red Dane
v ¢ Sahiwal

Q.8 Aninhnmtpmbhmiumaﬂugmunmdaluuufmcmbinamﬂmupmiusisuﬂn{ ]
hitps:/icdn4. digialm.comiliperigd1/pub/1258 fouchstone/AssessmentQPHTMLMode 1/1258018258/125801825853D 110/1 53007 1164274846897, 52/64
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Ans X 1 Folding l Question ID : 723053555 I

& 2 Post translational modification
#< 3 Subunit assembly

« 4 Purification

Calculate the recamb Eedquency if the cross hetween CDNed & od'cd has phienatypes and their freqiaency m
&4 (TR D (482); 0.4 (190 .21, Question 1D : 723053538

Ans X1 10%
X2 8%
<3 2%
v 4%

Q.10 “Height" i 5i I i ing inheritance?
Height” in humans is an example of which of the following inheritance [ Question 1D : 723053541

Ans X 1. Epistasis
& 2 Incomplete dominance
« 3 Polygenic

& 4 Co-dominance

" Which day is designated as World Environment day? [~ Fe AT
As X1 May 22

< 2 May 01

3 March 21

v ¢ June 05

bt hporsnic s vl
Ans X 1. Rettyndrome
X 2 Substanee use disorder
/< 3. Down syndrome
' & Withdrawal syndrome

ﬂ_'lz Wi §4 The Ters given 108 sex-of syvrioms shonn by mh ndividod s abeupt discontiEnation o dosege redaction of
[ Question 10 - 723053554

Q.13 Whichof the following isdopes was weed b Mevelion and Stadd to prove semicomervative nature of DISA replication?
[ Cuestion 10 723053542

Ans X1 14¢
X2 32p
<33
W 15y

Q.14 umarmﬁmwn;wdmmmm-mrﬂyummmmuamm[

Savering both extremes of the phenotype”

Ans X 1. Stabilizing
< 2. Reverse
« 5 Disruptive
& 4 Directional

hitps:/icdn4 digialm comiliper/gd1/publ 1258 ftouchstone/AssessmentQPHTMLMode 1//1258018258/1 258018258530 110/15300711642748468/197._,  53/64
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Ans

Q.15 Which of the following are the rate limiting factors of photosynthesis?

/< 1 Temperature and CO>
v 2 Light, temperature and CO»
# 5 Light. water and CO,
X 4 Light and temperature

|

Question 10 - 723053553

Ans

Q.16 Frfinr offrar (Sandwich ELISA) & apd oo & Afyes dew 2 Tl & 2 fer ot = Aem

b=l el v

< gfaers arer gfavel
xz.ﬁmﬂmﬁmwm
v o gfaged

<4 gfaste

L

Cuestion 10 - 723053540

Ans

Q.17 The carbobydrate is transported across different parts of the plan? through phloem. majorly as:

#< 1 Glycogen
« 2 Sucrose

X 3 Glucose
X 4. Fructose

Ans

Q.18 Which of the following is a discrete, encapsulated lymphatic organ? (

& 1 Tonsils

/< 2 Pever’s patches
23 Appendix

o < Thymus

Ans

Question 1D : 723053549

Chuestion 10 0 723053539

Q18 Which of the fﬁtiﬁvﬁ:hg is an example of adaptive radiation?

7< ' Huge species variation in fishes
« 2 Cichlid fish in the river of East African Rift
# 3 Amphibian evolution on land

/< 4 Human evolution

|

Cestion 10 : 723053545

Ans

Q20 The plasms proceins made by the Brer, whose sputheds i ipedlly incrensed in resposs 10 infection, sre refered o o,

& 1 Interferons

« 2 Acute phase proteins
#< 3. Cytokines

& 4 Interleukins

[

Cheestion 10 : 723053551

SEChon

Subiect Related

| Q.1 Which of the following is a rare species found in river Ganga of India?
hitps:/icdn4. digialm.comiliperigd1/pub/1258 fouchstone/AssessmentQPHTMLMode 1/12580 18258/1 258018258530 110153007 11642T48468/197 ..,
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# 1 Rohu [

Cluestion 1D : 723053561

I

« 2 River Dolphin
< 3 Turtle
X 4 Tortoise

Metaphase chromosomes are arranged in which order in a karyogram?

Cuestion 1D 1723053570

#< 1. Ascending

#< 2 Sex chromosome followed by autosomes
« ° Descending

& 4 Random

Which of the following immunosuppressive agents is obtained from fungi?

Cluestion 10 : 723053573

& 1 Sirolimus

o 2 Cyclosporine A
X< 3 Dexamethasone
& 4 Prednisone

.4

Ans

The inactivation of which of the following proteins results in cancer? [

Question 1D : 723053571

< 1t Ras
X 2 cdk
& 3 EGFR
o & ps3

Q.5
Ans

Cytakines fegalte cellular peponse in which of the following immune defenses of the body? L

Cuestion 10 - 723053576

» ' Both innate and adaptive

X 2 Innate only

X 3 Adaptive only

& 4 Deoes not generate cellular response

‘Which of the following phloem tissues is lignified? [

Cuestion 10 - 723053574

#< 1. Phloem parenchyma
X 2 Sieve tube elements
«  Phloem fibers

X 4 Companion cells

Q.7
Ans

Which of the following is the most abundant antibody isorype in blood (plasina)?

Question {0 : 723053560

X 1 IgE
K2 IgA
W o 1gG
X 4 IgM

https://cdn4. digialm.com//iper/g01/pub/1258/touchstone/AssessmentQPHTMLMode1/1258018258/1 258018258530 110/153007 11642748468/197 ...
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The cells are “flaccid” when they are placed in which of the following solutions?
/< 1. Hypotonic
¥ 2 Tsotonic
/< 3. Plasmolytic solution

X 4 Hypertonic

{

Ceestion 1D : 723053557

Q.9
Ans

Which of the following body fuids is not a usual mediom for spreading HIVIAIDS?
& * Blood
X 2. Vaginal secretion
v © Saliva
& 4 Semen

[

Question {0 : 723053568

Ans

Q.10 The induction of a plant's flowering process by exposure to prolonged cold 1s refemed to as:

v Vernalization
X 2. Phylloclade
& 2 Inflorescence
X 4 Phyllotaxy

Question 1D : 723053566

——ﬁ'

an
Ans

What would be the Respiratory Quotient of completely oxidized mboh}dmlgﬂ’ L o

<106
o

X307
X409

Q.12
Ans

Question 1D * 723053565

Which of the following practices i not usefil in animal freeding for increasing their fertitity?

< 1. Outbreeding

......

X 4 Cross breeding

|

Chuestion 10 : 723053572

Q.13

Ans

What is the function of prop roots?
X 1 Get oxygen for plant
« 2 Provide extra support to plant
& 3 Storage of food
X 4 Storage of food and water

Chuestion 10 : 723053563

Q.14

Ans

https://cdn4. digialm.com//iper/g01/pub/1258/touchstone/AssessmentQPHTMLMode1/1258018258/125801825853D110/153007 11642748468/197 ...

Which of the following proteins is encoded by lac operon?
& ' Glucokinase
X 2 Lactase
< 3 Allolactase

Cuestion 10 ; 723053558
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« ¢+ Beta-galactosidase

.15 Ramachandran plot is used for deciphering which of the follow etz of biomolacules?
ey e e ( Cuestion 10 : 723053575

Ans

< 1. Amino acid sequence of a polypeptide
< 2 Protein function

¥ 7 Protein structure

X 4 Peptide bond length

Q16 Which of the following diseases is caused by a roundworm? [ O —

Ans o 1 Elephantiasis
< 2 Amoebic dysentery
& 3 Malaria
X 4 Ringworm

Cuestion 10 - ?Eﬁﬂm 1

Q17 Which of the following plants does not have stilt roots?
Ans X 1. Saccharum officinale

/X 2 Zeamays

X 3 Triticum vulgare

« 4 Ficus benghalensis

—_— ==

Q18 gz & fum & mﬁmmmm#mwﬁl Question ID : 723053562
K g

X2 a2 37 9T 3cE 6N 8 ¥
v TE IR ¢

X & TE g #H FEF0T ear §

(.19 The isse. o livisty reen plis fox contiinnient of contaninants iy sail br roundwabe is relirred 16 as:
Ans & 1. Microremediation

X 2. Biofortification

< 3 Bio-fertilizers

« 4 Phytoremediation

Cueestion 1D 723053564

Q20 Which of the following is incorrect modification? SR SRR

Ans X 1. Carrot-modified root
v 2 Garlic-modified flower
& 3. Colocasia-modified stem
& 4 Onion-modified leaves

zection - Sublect Related
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Qa1
Ans

The genes for which of the following tradts of Pea plant a2 not present on chromosome 47 _
Cuestion 1D : 723053594

o ' Seed shape
X 2 Plant height
& 3 Inflorescence
X 4 Pod shape

Q.2
Ans

Which of the following classes has the hi ies div ertebrates?
o owing ¢ e highest species diversity among v 2 Question 1D : 723053580

& 1 Reptiles

X 2 Amphibians
v 3 Fish

< 4 Mammals

Q.3
Ans

Which of the following is used as fusogen In somanc cell hybridization technique? [
/< 1 Activated charcoal

Ceestion 1D : 723053596

v 2 PEG
X 3 Agar
X 4 Ammonium ions i

Q.4

Which of the following elements is/are responsible for eutrophication? [ Question 1D - 723053585

« ' Nitrates and phosphates
< 2 Carbon

& 3 Calcium

< 4 Sulfates and calcium

Q.5

Which of the following isa plant auxin receptor? Question 1D - 723053588

v ' ABP ¥
X 2 CRHR1
X 3 CRE1
X 4 AR

Q.6

Which of following is an example of behavioral adaptation? Question 1D - 723053579

#< 1. Acclimatization at high altitude
/< 2 Archaebacteria surviving in hot springs
/< 3 Fish surviving in Antarctic waters

o 4
Desert lizard keeping their body temperature fairly constant

Q.7

hitps:/icdn4. digialm.comiliperigd1/pub/1 258 fouchstone/AssessmentQPHTMLMode 1/12580 18258/1 258018258530 110153007 11642T48468/197 ..,

Which of the following is related to & ot in fish and fi indusizies?
AIng fs el fo Hiiprovement i i Question 1D : 723053577

X 1 Silver revolution
& 2 Golden revolution
X 3 Green revolution

5864
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« ¢ Blue revolution

Q.8 Which of the foliowicg enzymes i relessed by sperm o penstrae through follicnla cell I servonmding crveen®
Ans X 1. Lactase

« 2 Hyaluronidase

& 2 Collagenase

< 4. Peptidase

Question 1D : 723053582

3.9 Which of the following iv an indian govenmment organization for approval of pevetic modification (G5 research and
ity ofitrocicing G orgamiens fo s cevices® Question 10 - 723053595

Ans o 1+ Genetic Engineering Approval Committee
X 2 Genomic Expression Approval Committee
#< 3 Gene Engineering Approval Committee

X 4 Gene Expressing Authorizing Company

.10 Which of the following factors dogs not comtribute to high biodiversity in a community?
Ans o 1+ Low predator pressure

< 2 High competition for resources

& 3 Stable climate

< 4 Low inbreeding

Question 1D : 723053678

Q.11 Which of the following is a connecting link between bony fish and amiphibian
Ans X 1. Trilobites

X 2. Sphenodon

v © Coelacanth

X 4 Archaeopteryx
Q.12 Which of the follovwisiy :Jm-u an ovulation {a single ovun) daring menstnial cycle?
Ans o ' Ovulation induction [

X 2 Superovulation

# 3 Ovarian stimulation

& 4 In-vivo fertilization

Cuestion 10 - 723053589

Cruestion |0 723053583

Q.13 Out of the four phaszes of a “Logistic growth curve”, which phase is a phase of rapid growth?
[ Question 10 - 723053592

Ans o 1 Phasell
/< 2 Phase III
# 3 Phasel
< 4 Phase IV

Q.14 Which of the following is an example of “commensalism™? [ Question 10 - 723053586

Ans o 1 An orchid growing on a mango branch
/< 2. Bee taking nectar from an orchid flower
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# 3 Lichens
< 4 Brood parasitism

hittps:iednd digialm.comifper/g01/pub/1258fouchstone/AssessmentQPHTMLMode 141 2580182581 25801 825853011001 530971164274 ..

Q.15 Which of the following can act as a source of large scale insulin production? [
Ans X1 Cattle

Question 1D - 723053593

/< 2 Plants
X 3 Pig
« ¢ Bacteria

1,16 The cebnive measere of reprodicnive wﬁmwmmquwmumwntﬂtﬂmun:l

Cluestion 1D : 723053591

Ans X 1 Fecundity
X 2 Stable population
# 3 Birth rate
¥ ¢ Darwinian fitness

Q.17 Which of the following is the fiost widely mmmmﬁgp&ﬁmﬂuwmwmmm[

Ans X 1. Fabric filters

Question (D.+723053581

#< 2 Carbon capture
« = Electrostatic precipitator
X 4. Cyclone separators

Q.18 Melittophily is  term given to the pollination by which of the mmmgm.ﬂ[

Cuestion |0 723053587

Ans X 1. Birds
v 2 Bees
/< 3 Ants
X 4 Insects

Q.19 Which ofthe follﬁ!ﬂn;pﬁl:s related to flowering plants is mismatehed? [

Cuestion 10 723053584

Ans X 1 Ovule-Seed
X 2 Ovary- Fruit
& 3 Ovary wall-Pericarp
o 4 Stigma-Testa

0,20 Aevoriing to TUCH, tee spectes tan b Bely Hrbeootise endisgened, wale the Grenmilsdes ) ase threalenng i
upvival mad reprodiaction improne, i refiered o l

Cuestion 1D 723053520

Ans 3 1. Extinct species
v 2> Vulnerable species
X 3 Endangered species
& 4 Threatened species

Secton  Subject Related
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n_1 m;mmmmmmmMWMMM1muuMnmhnk Questbcn!D:TZSDESEﬂD
Ans X 1 ¢Articulates’

< 2. ‘Manipulates’
v <Imitates’
< 4 “Naturalises’
(.2  Inapemodar Mathematies cliss, o smdent cam draw gecesemnd flpunes and grephs. Wiich sizge of eogaiive doman
P ook ety [ Chsestion 1D 723053605
Ans ¢ 4 Understanding
< 2 Knowledge
v 3 skill
< 4 Application
3
Q ﬁmﬁﬁa##mmmﬁnﬁmﬁiﬂmﬂmﬁwmmh[ T m——
Ans ( i
EmCITE i i ATy S e o @ ¥
X 2 ®=a D FUWOT % HoT 9T HfET
x x B
a1 A HEEAH & o # PR aR F aga soafed ¥
X 4
T B X 2I 4 U @ T F A U T &
Q.4 - 4 o developrental diaability sgnlficentiy sffecting verbal and son-verbal comemanication and gocil Bteraction,
penerally avident before age thoee and chancrenised by enigaging in repetitive activities mnd Merectyped movements [ Cuestion 1D - T23053616
Ans X 1. Dysgraphia
< 2 Dyslexia
v o Autism
s 4 ADHB
Q.5 v s wfinn wegs & few ot seEe & anam @ awes sl fre e & e
ST S S e wre woE s & R wSE B ek sTme, mhnd dne [ Cluestion 1D 723053598
e fieen, S prapmme SO w i Emiee it Sl woor o smvew
s X e freror TEe
v : =T gEYT g
X5 mF frew 3T
X 4 e AregtAs e s
Q6 Which of these skills is a receptive skill? S eshion 0 2at0Rag
Ans X 1. Language
/< 2. Speaking
« 3 Listening
< 4 Writing
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Q.F froafafem & ¥ o9 W e IoeenE & A el wEg & wi i b

Ans xl_

P 39 He & w e i o ek aeee O SR 3T # a0l 1o we T e
et 1

Nz

Bu | oshT TR WEE | T = BT o E T B S R s o e

e
drow & o seEen Tt o R b A ot smumemst w

< 4
fmr ko E Ty T A E R & e e et R e F T A
TR A TR

Cuestion 1D : 723053613

Q8 Which of these is NOT a correct statement of the CAI? U

Ans x 1
It can help teachers to improve their role in education process.

o 2
CAI can give a human touch better than traditional teaching

7< 3 It can create simulations in the learner
/< 4 It facilitates reteaching and reinforcing

Q.9 Which of these is NOT a 2D art, method or technique fo use while teaching a subject? [
Ans o 1 Installation

X 2 Collage making

/< 3 Rangoli

# 4 Mandna

Question 1D : 723053607

Q.10 When knowledge i ired ! texts. it is -
WiEas s Reared Irough S aNER R Question ID : 723053611

# 1 testimony
v revelation
X 3 reason

/< 4 authority

Q11 Which of these is NOT a good aspect relating to reading a newspaper? \\ N ——

Ans  of
Exaggerated or underplayed news of the real situation

N E

Knowledge on antisocial elements in the society
/< 3. Increased vocabulary
#< 4 Latest update on the current happenings

QA2 sruem o ofafes s &y Sroma o s & e wfe e e et )
By wo & Bew v A e wne 3 Cheestion 10 : 723053614

A X e FeuTEa
X 2 FeIfEF qeaiwd

hitps:/icdn4. digialm.comiliperigd1/pub/1258 fouchstone/AssessmentQPHTMLMode 1/1258018258/12580 18258530 110/1 53007 1164274846897, 62/64



Tir2018 hitps:ifednd digialm.comiperig01/pub/1 258 cuchstone/AssessmentQPHTMLMode1//1 2580182581 258018258530 11001 53007 1164274 .
X 3 EATEHS HTHad

v ETTET FEaTee

Q.13 fer oo S 3 v @ A & e w5
R F E0 8F do b TR s HeET e 54 TRr oy S e & e T w
weE w i i naes T e e e b R T ofr st e wefiny frefinat mn
P &

A X reglmnfies (FERE) dras & 8
X2 oAl (onfees) daa &
<3 smor Fadr d@rEe #r O
v i e dae & O

T —

Ans X 1. gender equity
X 2 gender equality
/< 3 gender parity
o 4. gender sensitivity

Cluestion 1D : 723053600

Question 1D : 723053603

@15 Which of these is NOT a blog tool? [ ¥

Ans X 1. WordPress
< 2. Blogger
¥ * Trackback
X 4. Edublog

Q.16 Breiaite & 7 =5 7 &5 W & menh Bee & 5istm w1 F T # 7 e ol b
4 [ CQuestion 1D : 723053615

Ans ..,'
ferd Zpwre W AR e M feaide Prearew @ s ad s o we
S 2
g ww oni # Rew ot & 9T SRS 3 S R T §

p G

it w3 B aodt & fe & B wEw s & A g & e s ae

< 4
Ig H+T F=dr F WY AFar F& F 3T/ 2

QAT Which of these is NOT a part of social science? [ e
Ans X 1. Anthropology
+ 2 Biology
& 3 Statistics
#< 4 Sociology

Q.18 [dentify the correct statement on role play from the given options?

Ans J;
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Effective while addressing issues in the affective domain

< 2 Introverts enjoy Role plays

X3
All kinds of learners are proactive to take up role plays

/< 4 Low level of learner involvement

O Bt # & P v e Rl | Question D 723059612
A X aEeTd s

X 2. HegeRor (FAaerere)

v o TR @R T4 (a.v.) ST

X o gEgfear

Q.20 mmmﬁwﬁmmmwhmmﬂwﬂwwmm[

Ans K‘-
FREWMHT F TH T F @Bv ofmwrens wRw & T s

X 2 Haeea wiee Aefag wer

X3

TATS T Wpfoe TAE0T F &L F AA o FE
o

smehfae & e anfiF qerer 3R e Rwfag &

Cuestion 1D - 723063602

hittps:iicdnd digialm comfiper/gd1/pub/ 1258 ouchstone/AssesementQPHTMLMode 1/M12580 182581 258018258530 110/ 53007 1642748468197, B4/64



